


Post-processed results
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Simulated Real-time

Six meter offset

500 E [ BASEphEes————300 [BASERIXMUp ™~ "
e OF - : 200 - i .
Post £ -500 - : J100 -
OSst-proc -1000 E AT :108 C N ] \VE
FBASESIXM RTEast 4 [ SIXM RTUp 20 KBASESIXNM_RT AIMGsAME 108
800 E 4400 F 10 80
L ica E O i { of - e
OW proc noise & g, Jaoo | i p
-1600 =~ 3800k M. A AR 0
FBASE M HEN Eas 1, ASESTXM_ARW Atmees ] 10
600 i i J ] 80 0
i i £ 0F . Ho08 [ : ] - A 60 5
High proc noise & P ggg - {100 N 15e
1200 fopmmme . H000 pm— | J100 -—_— ] 28
21:00 21:30 21:00 21:30

Time Time



Simulated Real-time
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Simulated Real-time

Suppressing Cycle slips @ 10x default
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DD misfit limit (cycles)
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DD misfit limit (cycles)
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Compare DD cycles slip thresholds
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